Fundamentals of Nursing, 3Ce (Kozier)

Chapter 15   Rural and Remote Health Care

1) A nurse is caring for a client in a small rural Saskatchewan community situated within a 30 minute drive to a larger urban centre. What should the nurse understand about the health of Canadians who live in rural versus urban areas?

A) Rural areas have a lower incidence of respiratory diseases.

B) Hearing loss is more common among urban populations.

C) Urban populations have a higher incidence of motor vehicle fatalities.

D) Populations in urban areas are healthier than those of rural areas.

Answer:  D

Explanation: 

A) Incorrect. Respiratory disease is a common health problem among agrarian rural dwellers, and rates of respiratory diseases are significantly higher across the board in rural communities, compared with urban centres, according to DesMeules et al. (2006). Exposure to grain dust, wood smoke, agricultural chemicals for crop production, and noxious gases emitted from silos or oil and gas wells have all been implicated as having immediate or long-term adverse effects on the health of this population.

B) Incorrect. Many rural residents are at increased risk for noise-induced hearing loss. Working with heavy equipment, such as grain dryers, tractors, combines, and augers, can lead to intense exposure to loud noises for long periods.

C) Incorrect. In Northern areas, snowmobile mishaps are the leading cause of injury and death. Another factor related to the increased mortality in MVCs in rural areas is the distance that must be travelled to get the necessary resources to the person in need. In 2004, 62% of collisions resulting in a fatality were in rural areas (Statistics Canada, 2008c).

D) Correct. Studies of the health status of rural populations and the major determinants of health show that although health varied within rural areas, generally speaking, the closer residents lived to urban centres, the better their health. They further showed that what really discriminates urban from rural and areas within rural regions are health determinants (socioeconomic) and the presence of specific health conditions, such as respiratory disease, trauma, breast cancer, heart disease, infant mortality, smoking, and obesity. 

Type: MC

CRNE Competency:  Health and Wellness

CRNE Taxonomy:  Knowledge

Learning Outcome:  15-2

2) According to Statistics Canada (2008) what is a characteristic of population growth in Canada?

A) Rural Canada has the highest proportion of immigrants.

B) Populations are decreasing in areas around lakes and mountains.

C) Rural areas have larger populations of children and youth and seniors than do urban areas.

D) The Aboriginal population has the fastest-growing natural increase.

Answer:  D

Explanation: 

A) Incorrect. Rural Canada has the lowest proportion of immigrants, including new immigrants and visible minorities; 95.9% live in urban regions (Statistics Canada, 2008a).

B) Incorrect. Populations are growing in areas around lakes and mountains—preferred areas for many retiring "baby boomers."

C) Incorrect. Most rural communities have large populations of children and youth (0 to 19 years) and seniors (older than 60 years), in comparison with a somewhat smaller population of working-age people (20 to 59 years). Overall, they are, for the most part, older than urban populations.

D) Correct. The Aboriginal population is the fastest growing population in Canada, with most being youth and children living in under-serviced Northern, rural, and remote communities (Aboriginal Affairs and Northern Development Canada, 2010). Nurses working in these regions need to participate in policy and program initiatives to address health care inequities. 
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CRNE Taxonomy:  Knowledge

Learning Outcome:  15-2

3) What is known about the health of Canada's First Nations populations?

A) Infant mortality rates for First Nations people are similar to those in the general population. 

B) The most common causes of death for First Nations people aged 1 to 44 years were drownings.

C) The prevalence of diabetes is more than three times higher than in other communities.

D) First Nations peoples have longer life expectancies, in spite of social issues.

Answer:  C

Explanation: 

A) Incorrect. Infant mortality rates for First Nations people, both on and off reserve, are reported to be two times that of the general population (Smylie, Fell, & Ohlsson, 2010).

B) Incorrect. The most common causes of death for First Nations people aged 1 to 44 years were poisoning and injury.

C) Correct. Diabetes is a major health issue in First Nations communities—the prevalence being three to five times as high as in other communities, and the death rate is six times the Canadian average. 

D) Incorrect. Infant mortality rates, coupled with significantly higher accident and injury rates among all ages, contribute to lowered life expectancies.

Type: MC

CRNE Competency:  Health and Wellness

CRNE Taxonomy:  Knowledge

Learning Outcome:  15-2

4) Which of the following has been a factor in hindering health care delivery in rural and Northern areas? 

A) Practitioners who are generalists

B) Ratio of health care staff to population

C) Mobile health services

D) Money being spent on infrastructure

Answer:  B

Explanation: 

A) Incorrect. Health care providers in rural, remote, and Northern areas must possess a broad generalized knowledge base to meet the diverse health care needs of the residents. The need to maintain general practice skills covering all ages and all the conditions that clients or patients can present with is a major challenge for rural nurses.

B) Correct. A major factor impeding health care delivery is the need to service a population that is sparsely distributed over a large geographical area, with a limited number of health care professionals. 

C) Incorrect. "New models of interprofessional practice can be developed that are supportive of the varied strengths of and resources available to rural and remote communities" (MacLeod et al., 2004).

D) Incorrect. Limited infrastructure, including transportation and communication, hinders effective care delivery.
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CRNE Taxonomy:  Knowledge

Learning Outcome:  15-2

5) Gloria, 18, who lives on a reserve, has been communicating with a mental health counsellor using a computer in the health centre. What means of technology would be used for this purpose?

A) Telemedicine

B) Blended-mode

C) Web-casting

D) Telehealth

Answer:  D

Explanation: 

A) Incorrect. Telemedicine is the use of technology to transmit electronic medical data about clients to persons at distant locations.

B) Incorrect. Blended-mode learning (a combination of face-to-face, videoconferencing, Internet, paper-based, and web-casting) has mushroomed with technological advances and increased access to high-speed Internet connections and videoconferencing capacity (Atack, 2003; Carter, Rukholm, Mossey, Viverais-Dresler, Bakker, & Sheehan, 2006).

C) Incorrect. Web-casting is a way of broadcasting over the Internet.

D) Correct. Telehealth is the sharing of nursing information by using electronic means, such as a telephone or the Internet, to answer consumers' questions.

Type: MC
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Learning Outcome:  15-7

6) What should a nurse understand about respiratory problems in rural agricultural areas of Canada?

A) Better air quality in rural agricultural areas decreases the incidence of respiratory illnesses.

B) Healthy lifestyles in rural areas usually allow respiratory illnesses to resolve without treatment.

C) Incidence of respiratory illnesses in rural areas is significantly higher than in urban areas.

D) Respiratory illnesses in rural areas are usually caused by zoonoses.

Answer:  C

Explanation: 

A) Incorrect. Exposure to grain dust, wood smoke, and agricultural chemicals have all been implicated as having immediate or long-term effects on the health of rural Canadians.

B) Incorrect. There is no scientific data to support this claim.

C) Correct. Respiratory disease is a common health problem among agrarian rural dwellers, and rates of respiratory diseases are significantly higher across the board in rural communities, compared with urban centres. 

D) Incorrect. Zoonoses are diseases that are communicated from animals to humans, but are not specific to the respiratory system.
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7) How is the term rural defined by Statistics Canada?

A) It means size, density, and labour market

B) Defined by the travelling distance to the closest town

C) Located outside of a commuting area having at least 10 000 people

D) It is defined by the number of hectacres covered

Answer:  C

Explanation: 

A) Incorrect. These characteristics may be mentioned, but not by Statistics Canada.

B) Incorrect. Travelling distance is not a criteria, nor is any town; it must have a population of at least 10 000.

C) Correct. Statistics Canada uses a definition referring to rural and small town Canada, which it defines as labour market areas that are outside of the commuting areas of larger urban centres with core populations of 10 000 or more (Beshiri & He, 2009).

D) Incorrect. The number of hectacres does not define the term.
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8) An outpost nurse is assessing a client with symptoms of abdominal discomfort, nausea, and diarrhea. The nurse, suspicious that the client may have trichinosis, inquires if he has eaten any wild game recently. In what classification is this illness?

A) Zoonotic

B) Viral

C) Bacterial

D) Autoimmune

Answer:  A

Explanation: 

A) Correct. Zoonotic illnesses are those that are transmitted from animals to humans. In Northern and Arctic regions, trichinosis is a parasitic infection that is commonly found in wild game. 

B) Incorrect. Trichinosis is not caused by a virus.

C) Incorrect. Trichinosis is not a bacterial infection.

D) Incorrect. Trichinosis is not an autoimmune illness.
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9) A community health nurse in a Northern Aboriginal community is assessing Cory, who is 4 years old. Besides being overweight, he is subjected to second-hand smoke in his home. What should the nurse be thinking about in relation to this assessment data?

A) Dermatitis

B) Gastric ulcers

C) Otitis media

D) Asthma

Answer:  C

Explanation: 

A) Incorrect. Skin disorders, such as dermatitis, are a common problem for those working with chemicals without the use of personal protective equipment, such as gloves and coveralls.

B) Incorrect. After crop spraying, gastrointestinal problems from acute or insidious poisoning through ingestion of contaminated food or water supplies are also concerns encountered.

C) Correct. Otitis media (middle-ear infection) and resultant hearing loss are endemic in Aboriginal children in Northern Canada, with the prevalence in some communities as much as 40 times greater than in urban Southern communities (Bowd, 2005). Causes include increased susceptibility to infection because of immunity deficits, a decline in breast-feeding, cigarette smoke exposure, and poor diet.

D) Incorrect. Respiratory disease is a common health problem among agrarian rural dwellers. Asthma is particularly prevalent in Southern Alberta, an area noted for its wind and cattle feedlots; however, in the pan-Canadian health report, this regional rural difference does not show up in the overall health of rural residents.
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10) Which of the following best describes a blended-mode of curriculum delivery? 

A) Classes are offered both face-to-face and on the Internet.

B) Classes include cultural aspects of nursing in Aboriginal and farm communities. 

C) The program is open to registered nurses, physiotherapists, and nutritionists.

D) The graduates of the program complete both a baccalaureate degree and a master's degree.

Answer:  A

Explanation: 

A) Correct. Blended-mode delivery is a mixture of face-to-face classroom and clinical work, plus courses offered on the Internet. A graduate program with a focus on rural and Northern nursing is offered through a blended-mode (face-to-face and online) delivery at Laurentian University in Northern Ontario.

B) Incorrect. Although this may be true, it does not describe a blended-mode curriculum.

C) Incorrect. Interprofessional programs are not necessarily a blended-mode design. Laurentian offers a unique interdisciplinary program at the doctoral level in rural and Northern health, focusing on health services and health policy.

D) Incorrect. The term blended-mode does not mean an undergraduate and graduate degree combination.
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11) A nurse in a remote area of Northern British Columbia is caring for a client with an abnormal heart rhythm, and is transmitting electronic medical data about his heart to a specialist in Vancouver. What is this method of remote practice called?

A) Videoconferencing

B) Distance learning

C) Telehealth

D) Telemedicine

Answer:  D

Explanation: 

A) Incorrect. Videoconferencing may be used as a part of blended-mode learning in which a combination of face-to-face, videoconferencing, Internet, paper-based, and web-casting are used. 

B) Incorrect. With distance learning, education and instruction is delivered to students who are not physically present in a traditional setting such as a classroom. 

C) Incorrect. Telehealth is the sharing of nursing information by using electronic means such as a telephone or the Internet to answer consumers' questions. 

D) Correct. Telemedicine is the use of technology to transmit electronic medical information about clients to persons at distant locations. 
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12) Which of the following describes an accurate demographic difference between rural and urban Canadian populations?

A) Most rural communities have small populations of children and youth (0 to 19 years).

B) There is a trend for urban populations to attract more retirees.

C) Rural communities have older populations than do urban.

D) Both populations have similar age-related demographics.

Answer:  C

Explanation: 

A) Incorrect. Most rural communities have large populations of children and youth (0 to 19 years).

B) Incorrect. Factors that contribute to the bimodal population age pattern include the aging of the rural population, outmigration of rural youth for education and employment, and in-migration of retirees (Pong, 2007).

C) Correct. Most rural communities have large populations of seniors (older than 60 years).

D) Incorrect. Age-related demographics are different in each geographic area.
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13) Which of the following client situations most accurately describes problematic substance use?

A) Mr. Creele, 56, who chronically over-consumes alcohol

B) Keegan, 19, who regularly uses cannabis and hallucinogens

C) Lucas, 15, who inhales gasoline fumes, glues, and aerosols

D) Mr. Mohle, 33, who misuses prescription, nonprescription, and illicit drugs

Answer:  D

Explanation: 

A) Incorrect. Over-consumption of alcohol only partially describes problematic substance use, as alcohol is included within "nonprescription drugs" of the definition.

B) Incorrect. The use of cannabis and hallucinogens do not accurately describe problematic substance use.

C) Incorrect. Inhalation of substances does not accurately describe problematic substance use.

D) Correct. Problematic substance use refers to the inappropriate use of prescription drugs and nonprescription drugs (including alcohol) and the use of illicit drugs. The onset of problematic substance use can be inadvertent and insidious. Commonly misused substances include tobacco, alcohol, opioids, and a wide range of illicit drugs. In addition, the inhalation of various aerosol products is a growing problem among Canadian youth, especially in the more remote regions. 
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14) Nurses studying in a rural nursing program read statistics describing the health of Canadians living in rural-urban fringe zones. What do the statistics show regarding people living in these zones?

A) Rural-urban fringe zones populations are healthier than people living in more remote regions.

B) Mental health issues are more frequently under-reported in urban, compared to rural, populations.

C) Rural-urban fringe zones populations are more likely to have contaminated water supplies.

D) People living in more remote regions are healthier than those in the rural-urban fringe zones.

Answer:  A

Explanation: 

A) Correct. Rural-urban fringe zones are areas close to urban centres. Studies of the health status of rural populations and the major determinants of health show that although health varied within rural areas, generally speaking, the closer residents lived to urban centres, the better their health. They further showed that what really discriminates urban from rural and areas within rural regions are health determinants (socioeconomic) and the presence of specific health conditions, such as respiratory disease, trauma, breast cancer, heart disease, infant mortality, smoking, and obesity. 

B) Incorrect. Rural communities tend to be more isolated from formalized health and social services. The lack of anonymity within small communities and the fear of being stigmatized with a mental health problem pressure some rural and Northern residents to keep their problems to themselves.

C) Incorrect. Many remote and Northern residents continue to obtain their drinking water from sources that are not treated to remove bacteria and parasites. This fact, coupled with inadequate sewage disposal and contamination from livestock, has resulted in outbreaks of infection that are most harmful to infants, children, older adults, and persons who are immunocompromised.

D) Incorrect. Rural-urban fringe zones are areas close to urban centres. Generally speaking, the closer residents lived to urban centres, the better their health. They further showed that what really discriminates urban from rural and areas within rural regions are health determinants (socioeconomic) and the presence of specific health conditions, such as respiratory disease, trauma, breast cancer, heart disease, infant mortality, smoking, and obesity. 
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15) A nurse-researcher is examining demographics and socioeconomics of rural farming communities in Canada. Which of the following facts is true? 

A) Rural areas that are reliant on commodities like mineral extraction or forestry are the most secure.

B) The rural incidence of low income is similar to that of those living in urban areas.

C) Only in rural Saskatchewan, Ontario, and Nova Scotia is agriculture a major employment sector.

D) Between 17% and 18% of the population of Canada live on farms.

Answer:  B

Explanation: 

A) Incorrect. Rural areas that are reliant on such commodities as agriculture, forestry, or mineral extraction for their economic welfare are subject to "boom and bust"economic changes that result in a lack of predictable income. This lack of security can act as a major source of stress in rural areas (Brannen, Johnson Emberly, & McGrath, 2009).

B) Correct. The rural incidence of low income is similar to that of those living in urban areas (Bollman & Reimer, 2009). Rural employment has matched urban areas since 2001, after lagging throughout the previous decade. The biggest employment increases occurred in Northern Manitoba, followed by Athabasca, Alberta, driven by the development of the oil sands.

C) Incorrect. Only in Manitoba and Saskatchewan is agriculture a major employment sector in rural areas.

D) Incorrect. Less than 10% of Canadians live on farms, a decrease from two-thirds of the population prior to World War II. Bollman and Reimer (2009) described a significant shift from farming to nonfarming activities in rural Canada. They noted: "The landscape may still be agricultural. The rural people-scape is decidedly nonagricultural."
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16) Which of the following has been cited as a reason for the increase in cancers in rural Manitoba?

A) Blastomycosis

B) Chemicals

C) Contaminated water

D) Zoonotic illnesses

Answer:  B

Explanation: 

A) Incorrect. Blastomycosis infection is caused by inhalation of the soil-dwelling fungal spores of Blastomyces dermatitidis, usually around river banks and other moist areas. The Kenora region of Northwestern Ontario has been identified as a region of high infection rate, particularly in Aboriginal populations (Saccente & Woods, 2010).

B) Correct. The exposure to chemical contaminants can cause a variety of clinical manifestations from dermatitis to cancers. Studies have shown that people who apply pesticides and their families should be counselled on hygienic practices, for example removing footwear and washing soiled hands before entering the home to reduce indirect sources of exposure to these chemical agents. 

C) Incorrect. Contaminated water is not linked to cancers in this area.

D) Incorrect. Zoonotic illnesses are those that are transmitted from animals to humans. In  Northern and Arctic regions, trichinosis is a parasitic infection that is commonly found in wild game. 
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17) Which of the following factors is true regarding nurses working in rural or remote areas compared to their urban counterparts?

A) Rural nurses have a more prominent role in health care planning than do urban nurses.

B) Urban nurses suffer more musculoskeletal injuries than do rural nurses.

C) Urban nurses have higher workloads overall than do rural nurses.

D) Rural nurses are at a higher risk of contracting blood-borne pathogens than are urban nurses.

Answer:  A

Explanation: 

A) Correct. Rural nurses have a greater opportunity to affect health care planning and policy at the local level because of the recognized role as a resource on health care and the prominence in the community.

B) Incorrect. Nurses working in rural and remote areas face occupational risks that differ from those in metropolitan areas. An Australian study comparing the risks faced by rural nurses with those of their urban counterparts found that rural nurses lifted and transferred patients more often than their urban colleagues.

C) Incorrect. Rural nurses face high workloads (long hours, extensive on-call demands, complex patient needs).

D) Incorrect. Rural nurses reported less risk of blood-borne pathogens and excessive noise but more risk for temperature extremes than metropolitan nurses (Timmins, Hogan, Duong, & Miller, 2008).
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18) What was the purpose of the Canadian government in setting up residential schools in the early nineteenth century?

A) Educating black Canadian children

B) Supporting First Nations language and culture

C) Providing homes for children to be adopted

D) Implementing its First Nations assimilation policy

Answer:  D

Explanation: 

A) Incorrect. According to Llewellyn (2002), residential schools were established by the Canadian government in the late nineteenth century and were in operation until the 1980s to provide education to First Nations children. The policies by which the schools were run came from the Canadian government; however, day-to-day management lay with religious organizations.

B) Incorrect. The removal of children from their families; the destruction of First Nations languages, culture, and spirituality; and the physical and emotional abuse the children endured are at the core of many of the health and social challenges that face First Nations and their communities today.

C) Incorrect. Residential schools were not used for this purpose.

D) Correct. The government used these schools to implement its policy of assimilation."Settlers demanded that the colonial government respond to the so-called Indian problem," which arose with the arrival and spread of British settlers into First Nations lands.
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19) What are the four main causative factors of mortality in Canada's rural areas?

A) Neurological and gastrointestinal diseases, homicide, and malnutrition

B) Problematic substance use, circulatory and neurological diseases, and injuries

C) Circulatory and respiratory diseases, injuries, and suicide

D) Gastrointestinal and respiratory diseases, problematic substance use, and suicide

Answer:  C

Explanation: 

A) Incorrect. None of these were cited as main causes of mortality in rural Canada.

B) Incorrect. Of these choices, only circulatory diseases and injuries were included as main causes of mortality in rural Canada.

C) Correct. DesMeules et al. (2006) completed the first report produced at the pan-Canadian level that provides a broad picture of the health of rural populations. Higher overall rural mortality risks were attributed to such causes as circulatory diseases, respiratory diseases, injuries, and suicide. People living in rural areas farthest from urban centres were at the greatest risk for all causes.

D) Incorrect. Gastrointestinal diseases and substance misuse were not leading causes of mortality overall in rural Canada.
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20) Working in a rural community gives nurses a high visibility and a lack of anonymity. In addition to providing nurses with a greater knowledge of clients' home and family situations, what is another effect?

A) Tension is created between nurses and other health professionals.

B) It means that the nurse is never completely off duty.

C) It creates social situations whereby the nurse breaches confidentiality.

D) Health promoting changes are more difficult to achieve.

Answer:  B

Explanation: 

A) Incorrect. The caring that emerges in rural nursing is based on interpersonal knowledge of the patients and clients, their families, and their communities, as well as the relationship that exists between the nurses and their co-workers.

B) Correct. The high visibility of the nurse in the community is a key factor that affects nursing practice. The resultant lack of anonymity means that nurses may never be off duty and may be consulted by friends and neighbours wherever they go. 

C) Incorrect. Confidentiality is both a moral and a legal requirement of nurses in any context. 

D) Incorrect. Nurses are often described as highly visible members of the community, resourceful, flexible, autonomous, self-reliant, and effective team members (MacLeod et al., 2008). Rural nurses have greater opportunity to affect health care planning and policy at the local level because of the recognized role as a resource on health care and the prominence in the community.
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21) Zoonoses, diseases that are communicated from animals to humans, include which of the following?

A) Blastomyces dermatitidis

B) Undulant fever

C) Escherichia syndrome

D) Papanicolaou disease

Answer:  B

Explanation: 

A) Incorrect. Blastomycosis infection is caused by inhalation of the soil-dwelling fungal spores of Blastomyces dermatitidis, usually around river banks and other moist areas.

B) Correct. One of the more common zoonoses is brucellosis, which is contracted from cattle, swine, and goats. Humans acquire this disease, known as undulant fever, from ingestion of unpasteurized dairy products.

C) Incorrect. Escherichia coli is a bacteria.

D) Incorrect. Papanicolaou is the correct term for a Pap test, not a disease.
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22) Peter, 18, tells the community health nurse that he needs to take part in a restorative justice program because of a bicycle theft that he committed with a group of friends. What should the nurse understand about this program?

A) Each provincial justice department imposes jail time through this program.

B) Restorative justice is a recent term used to indicate house arrest. 

C) Community Services manages restorative justice programs for young offenders.

D) Restorative justice uses reconciliation to compensate victims of crime.

Answer:  D

Explanation: 

A) Incorrect. Incarceration is not part of a restorative justice program.

B) Incorrect. Restorative justice does not mean house arrest.

C) Incorrect. The provinces and territories are primarily responsible for the delivery of services for victims of crime. All provinces and territories have passed legislation for victims of crime, and each has established different models for the delivery of services to victims in order to best suit the needs of victims in that province or territory.

D) Correct. In the recent case involving Aboriginal residential schools, Llewellyn (2002) introduced and made a case for restorative justice, an approach to justice that involves righting the wrong, as much as possible, through reconciliation, healing, and building peace within communities, which builds on and learns from the successes and failures of the South African Truth and Reconciliation Commission.
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23) What is the most common cause of accidental injury and death in Northern areas of Canada?

A) Wild animal attacks

B) Snowmobiles

C) Farm equipment

D) Firearms

Answer:  B

Explanation: 

A) Incorrect. Attacks by wild animals are not a common cause of injury or death.

B) Correct. In Northern areas, snowmobile mishaps are the leading cause of injury and death.

C) Incorrect. Although the majority of farm injuries (51.95%) are musculoskeletal (fractures, dislocations, sprains or strains, and back injuries), they are not the most common type seen.

D) Incorrect. Firearms are not the most common cause of injury or death in Northern communities.
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Learning Outcome:  15-7

24) What is known about rural nursing in Canada?

A) Personal and professional roles are distinctly separated in rural nursing.

B) New rural nursing programs are now meeting the recruitment needs for Northern nurses.

C) Rural nursing should be regarded as a distinct specialty in Canadian nursing practice.

D) Because of the isolation, interprofessional practice is unrealistic for rural nursing.

Answer:  C

Explanation: 

A) Incorrect. Nurses' personal and professional roles are inseparable in small communities. The multiple roles played by nurses in small communities and the negotiation of relationship boundaries are major issues. Nurses describe issues that arise from knowing clients in multiple contexts and being known to them.

B) Incorrect. Retirement and migration need to be addressed by providing relevant continuing education. Although the number of programs being offered across the country for nurses working in rural, remote, and Aboriginal communities has increased, not enough nurses are graduating from nursing programs to fill the gaps left by retirements and migration (Rukholm, 2006).

C) Correct. Rural nursing in Canada has lacked a consistent definition and has not yet been formally recognized as a distinct specialized area of nursing practice (Crooks, 2004).

D) Incorrect. Support for new ways of interprofessional practice is essential.
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25) The Epp family, who have two children under 5 years of age, have recently moved into a small farming community. What could a home health nurse teach this family about farm safety and preschoolers?

A)  Fatal injuries for preschoolers in urban centres are more common than for those on farms.

B) Preschoolers have a natural curiosity which must be expressed by freely exploring the farm.

C) There must be a designated play area in the community for the preschool group. 

D) Fatal injuries for preschoolers on farms are more common than for those in urban centres.

Answer:  D

Explanation: 

A) Incorrect. The opposite is true.

B) Incorrect. It is not safe to allow preschoolers to freely roam about a farm.

C) Incorrect. The implications for providing health care include restricting preschool-age children's access to agricultural work sites and developing and delivering communication strategies to educate families as to the lethal danger exposure the work site engenders. Designated safe play areas for small children living on farms are rare but needed; however, simply telling the family this will not keep their children safe at the present time.

D) Correct. Agricultural injuries and fatalities are an important health issue for preschool children. In children aged 1 to 6 years, death caused by fatal farm injuries was almost double unintentional fatal injuries from all other causes. Three major causes were identified: being run over as a bystander, being run over as an extra rider, and drowning. 
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26) Which of the following information related to Canada's population is accurate?

A) The Northwest Territories and Nunavut have the slowest-growing rural populations.

B) Canada is the tenth-largest country in the world in size of landmass.

C)  Canada's Aboriginal population had the slowest-growing natural increase.

D) Most of Canada's population is concentrated close to the Canada-United States border.

Answer:  D

Explanation: 

A) Incorrect. The Northwest Territories, Nunavut, and Alberta had the fastest-growing rural populations (Statistics Canada, 2007a).

B) Incorrect. Canada is the second-largest country in the world in size of landmass.

C) Incorrect. The Aboriginal population, those who can trace their origins to First Nations, Inuit, or Métis, had the fastest-growing natural increase (Aboriginal Affairs and Northern Development Canada, 2010).

D) Correct. Even though Canada is the second-largest country in the world in size of landmass, it has a relatively small population, the majority of which is concentrated close to the Canada-United States border.

Type: MC

CRNE Competency:  Health and Wellness

CRNE Taxonomy:  Knowledge

Learning Outcome:  15-2

27) In First Nations communities, which of the following health problems is 3.5 times more prevalent than in the general population?

A) Suicide

B) Diabetes

C) Cancer

D) Infant mortality

Answer:  B

Explanation: 

A) Incorrect. Suicide rates in the Aboriginal population are dramatically higher than in the general population, with the First Nations suicide rate twice that of people in the general population

B) Correct. Diabetes is a major health issue—the prevalence being two times higher for the Métis population as the general population, and 3.5 times higher for First Nations people as compared with people in the general population (Tjepkema, Wilkins, Senecal, Guimond, & Penney, 2009).

C) Incorrect. Cervical cancer is more prevalent in Aboriginal populations, but not 3.5 times greater in First Nations communities.

D) Incorrect. Infant mortality rates for First Nations people, both on and off reserve, are reported to be two times that of the general population (Smylie, Fell, & Ohlsson, 2010).

Type: MC

CRNE Competency:  Health and Wellness

CRNE Taxonomy:  Knowledge

Learning Outcome:  15-4

28) What is a major contributing factor to the difficulty in attracting new nursing graduates to work in rural areas of Canada?

A) Decreased autonomy because of strict scope of practice restrictions

B) Lack of educational preparation in nursing programs to work in remote settings

C) Isolation and little interaction with other health care professionals

D) Limited availability of technology to support nursing practice

Answer:  B

Explanation: 

A) Incorrect. Rural nursing practice provides many rewards, including greater autonomy because there are fewer nurses and other health care professionals.

B) Correct. It is essential that more nursing students be educated to practise in rural and remote acute care and community settings.

C) Incorrect. Rural nursing offers a close interface with other health care professionals.

D) Incorrect. Technological advances and increased access to high-speed Internet connections and videoconferencing capacity have mushroomed in remote areas (Atack, 2003; Carter, Rukholm, Mossey, Viverais-Dresler, Bakker, & Sheehan, 2006). 

Type: MC

CRNE Competency:  Professional Practice

CRNE Taxonomy:  Knowledge

Learning Outcome:  15-7
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